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RECRAIRORER | o0kn/m2 2182 B RETAROER |4 oon/m2 182 2R 15
NADKES| £FZE | HWDKRES LFE (HDKES| £HE | HOKES +10% HDKRES| +HZE | HDOKES FZE | HDKSES £FE | HOKES 7%
DI 3b\RRK| DFE |DI3BERX 0FE [DI3BRX 0FE |[DI3BRXK 0F D3RR OFE |D3bmK OFX |D3B&K 0OFE |D3BHRK 0OFs
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(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - - - - - - - ~
2 ~ 3 - - 88.35 1.00 - - 9.50 1.78 ~
3 ~ 4 - - 88.35 1.00 - - 10.40 1.94 ~
4 ~ 5 - - - - - - - - ~
5 ~ 6 - - - - - - - - ~
6 ~ 7 - - 100.00 1.00 - - 11.80 2.21 ~
7 ~ 8 135.09 1.00 100.00 1.00 - - 12.29 2.30 ~
8 ~ 9 123.23 1.00 100.00 1.00 - - 12.29 2.30 ~
9 ~ 10 117.25 1.00 100.00 1.00 - - 9.63 1.80 ~
10 ~ 11 117.26 1.00 100.00 1.00 - - 12.25 2.29 ~
11 ~ 12 143.05 1.00 100.00 1.00 - - 16.05 3.00 ~
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